% LEFHFIui-L S - Google Chrome _ - 52

2% owl-sys-beta.owl-developer.net/owl/healthCheck.mics

72
§ DXCARESU—ws [ ERHE S EAEESS @ | MEESt | X 2 D@ =T

T75-Q

Ef ~ SEC AR E5tRRI RO6 |« 02 (v ~ RO7 ~ (01 »

‘ 2En B - T - FH RE-Ef L\ - ML 3
iR E=2a R06.02 R06.03 R06.04 R06.05 R06.06 R06.07 R06.08 R06.09 R06.10 R06.11 R06.12 RO7.01
—
~ | w2 0 o [ o 0 [ 0 [ 0 0 1,746 0 =
~ | AENE (#2) [ o o o o o o o o o 732 o
~ | BEAME (2] o o o o o o o o o o o [
v | #EWE (#2) 0 o 0 o 0 o 0 o 0 o 0 0
MEH S Jg|T BI|'E S LC}
~ | ADRERME (D IEFES: [ o o o o o o o o o o 0 - 1T = = = .
~ | ASEHKENE (ERE a o (1] [ o [ o [ o o o o I— — —
v | HEH (F-EENEEEE 0 o 0 [ 0 [ 0 [ o [ 876 ] gm L —C 9 7 7§'J\J %*? a
~ | ®BT - BaiEmE (%) 0 4 o o o o o o o o 341 0
]
SHRBEVTRBLLNE (12 0 0 ] 0 0 0 0 0 o o 0 [
wRESTOTME @@ 0 [ o 0 o 0 o o o o o 0
EREEREmSE1 (72 ] [} o 0 673 0 748 369 1,017 1,226 o o
EREERENE2 (55 ] 0 4] 0 [4] 0 [4] 0 342 0 0 53,624
EFD XS EAERNE1 0 0 0 0 0 0 0 0 0 0 167,250 0
LaEmE (ER) o o o o o o 4] 1] o o o o
=2a 0 ] o o o 0 [ 0 [ 0 [ 0
=FEEE 0 o 0 0 0 0 0 o o o o [
[SEE=228 ] ] ] 0 ] 0 [ 0 [ 0 [ 0
FEEEEERH 0 0 0 0 0 0 0 o ] o ] 0
SESEmE o [} o o 104 o o 52 o 0 24752 9,672
ALTEENE (NTRER 0 0 0 0 0 0 0 0 ] o 135 [
T 2ERENE (ER) o o o 0 o 0 o 0 o o 2,050 8,200
EREETARIEME ] [} o ] 152 ] 114 ] o 0 23,294 29,678
2 i (A-BESRS0RE ] 0 4] 0 [4] 0 [4] 0 o 0 1,216 o
§ ShEBRIHD LS (EE 0 0 0 0 0 0 0 0 ] o ] 0
= REMEETHEME (@2 0 o 0 0 0 0 0 o [ o 1,632 [
b=}
0 ERGEIENES (&) [ o 0 0 234 0 0 116 0 0 0 0
; ERGEIENE (538) o o o 0 o 0 o 0 o 0 27477 7,199
E IS ERREEE 0 0 0 0 0 0 0 0 0 0 3,250 0 -
W LETHFIA-L S - Google Chrome _ - 57
25 owl-sys-beta.owl-developer.net/owl/healthCheck.mics
@ DXCAREZU=wS | () EREE 0 EAEEES | @ | | mEEn 3% %= (P& O “T
HEE-
ETHY 2458 v Fn#F : R06.01~R07.01 E
— — oo
Jd2j =7t EA E|X| %2
> —_ o — o
77 7REINGEL
02 03 04 05 06 07 08 09 10 1 12 01
2
o ~ - 111000110 #)EEE = 2910 || 111011670 ZEISHEME CNSRER) = 365.0
= v [l 1ocosvo fmEms %) m 750 v [l 1onis0 wBs E-EEEREEoRE) m 146.0
E “ 111000570 EREAIE (1) @ sso|| v [ 11i0v2ev0 wR - =wsmE G = 500
S v [l 11000670 FEmME (1) = 2500
0
3 v Il oo LavERmE (lERTR o 2000
&




